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V1. BEREHSH
1. EHRENX
o Rr = o+ A HAZEKE, N2
Ay = f(xr+ Ax) — f(x)
PRMREL y = f(2) B3,

FHikK v = f(z) = lim Ay D
Ar—~0 A,I‘

A T L WUFR R S pR B T eR R (o) AR B AR A O T A ] o 9
T S U Ry = () ETEAE « SRR
[tane = f () ]. (F 2. 1)

VA

B21
2. KiESEHEAR DN
AR ¢ B E PR AL
u=ul(x),v=v(lr)w=wlx)

AT T R )

(1) " =03

(2) (aw) =’y

3) (utv—w) =d +u —w;

(1) ()" = w'v+u;



v A 2 4k A B o B )82 2

(5) (%) _wv—wl g,

v
(6) (u") = nmu""v' (n FEEO ;
(D) MERE y = (W) Fu= () &hA FeRE N

Vo= yuu.
3. EEXnKX
(e = R ey
(D (@) ="' (n HEFD. (2) (sinx)’ = cosz.
(3) (cosx)’ =— sinx. (4) (tanz)’ = 1‘, .
cos T
(5) (cotr)’ =— .1.. . (6) (arcsinx)’ = 1 "
sin“x 1 — 2°
(7) (arccosr)’ =— ﬁl—_z (8) (arctanx)’ = 1_:1_2
N ]
(9) (arccotr) = T2
(10) (@) = a’lnala > 0).(e") = ¢".
(1) (ogx) =—1  (@>0,Ha=D;(n) =%  (2>0).
xlna x
(12) (shx)" = chx. (13) (chx)’ = sha.
(14) (thr)’ = -1, (15) (cthx)’ =— 1.) .
ch®r sh®x
4. BN SR E
%ij_;it j~/7 (.Z‘) == llm f(I+Ar) _f(.r).
Ar—0 Ax
, _ e St Ax) — f(x)
)54 f+(x) AlrlIEO Az .
S RFRERREL f(0) 7E 2 s A TR B EH T sREL
SRR f (o FERTEERMR
f-(x) = f4 (z).
5. XE Y

WSRTE R« PRE S (o) RIELER), H

. flr+Ar) — flx) _
lim Ar -

oo,
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W FReREL f () FE8 o A TR I R TEX LT Ry = f(2)
FETETE S « YIS Ox #hIEH.
(821 tnff /i 17255 1000, 3R H [ 28 &« B934 Ax FIERE v
= lgzr MXTRIIEHE Ay.
8 Axr = 1000 —1 = 999,
Ay = 1gl000 — lgl = 3.
[822) &R x| 0. 01 28 %] 0. 001, 3K B 25 & « B3 & Ax FIER

By = L HRp R Ay,

8 Axr = 0.001—0.01 =—0.009,

I DS
= 10,0010 (0.0D)E 290000

[823) #(1) y=axr +b;

(2) y=ax’ +bxr +c;

(3) y=a".

i AHE A, RIEE Ay,

g () Ay=[lalx+Ax)+b]—[axr +b]

Ay

= alAx.
(2) Ay = [alz+Ax)* +b(x+ Ax) + ] — [ax® +bxr + ]
= (2ax +b)Axr +a(Ax)?.
(3) Ay = a"™ —a* = a" (a® —1).

(824 EH.
(1) AL f(x) +g(x)] = Af(x) + Agla);
(2) ALf(o)glo)] = gla+ Ax)Af(x) + f()Agla).
iE (D) ALf(x) +g(2) ]
=[flx+axr) +glx+an)]—[f(x)+g(x)]
=[f(x+Axr)— f()]+[gla+ Ax) —g(x)]
= Af(x) + Ag(x).
(2) Al f(x)g(ax)]
= f(x+An)g(x+ Ax) — f(x)g(x)
= [f(x + Ar) — f(0)]g(z + ap) + f@L8x
—g(x)]

+ Ax)
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= Af(r) « glx+ Ar) 1+ f(r)Ag(x).
[825) Zadhek v = 27 LM 8 A2 4) R A2+ A4+
Ay) Gl EIZL AA" ORI EIZE AR A

(1) Ar=1; (2) Ar = 0.1
(3) Ar = 0.01; (D) Av FEE/D.
CRIMZRAE L A DL RER S T 20
R B AABREN

e = LAy
(1) kay = 5. (2) kay = 4.1,
(3) kar = 4.01, (4) by = 44 Ax.

FHETE A S RER R
by = l\jm\/c,\\ = lim(4 + Ar) = 4.
[826) FIFHMAEL v = " ¥ Or Bl FAYZREE | << o << 1+ h MRS
F Oy &h 1. SR HAE 29 fd K 25 2
(D) h=0.1:(2) h = 0.01;(3) h = 0.001,
K ER BB Y = 1B R ERSET Z /0
R MR REECH
= U =L s ahtm
(1)L =34+3+(0.1)+0.1)* = 3.31;
(2) L =3+3+(0.01)+(0.01)2 = 3.0301;
(3) L = 3-+3+«(0.001) -+ (0.001)* = 3.003001,
TR IS 2= LK REN
L|.,.. = limL = lim(3 + 3h +A%) = 3.

L

(827 K SW O Hhizsh iy T AER .
x = 10t + 5¢%,

Horpor FmE] LA s 31) 520 BIEE (LA m ).

SR AERTTE] 20 <t <C 20+ At N RE SR P shs B, 37 : (1) Ar
= 1;(2) At =0.1;(3) At = 0. 01,35 - 153 B A1, 24 ¢ = 20 B
Hizsh# T L7

g PR
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- [10€20+ A1) +5(20+ At)* ] —[10 X 20 45 X 207 ]
At

= 2104 5At(m/s),
(1) v=210+5 X1 = 215(m/s),
(2) v=210+5X0.1=210.5(m/s),
(3) v=210+5x0.01 = 210.05(m/s)
FRY = 20 B EE R

U | =20 = ngv = llm(210+5At) = 210(m/s).
[828) ﬁﬁ@%ﬁéﬁﬁx-E?ﬁitﬂuTﬁﬁlﬂ‘J@%ﬁl:

(1) 22:(2) 2% (3) Tl{‘ W) Jx; &) J7; (6) tanx; (7) cotr;

(8) arcsinz; (9) arccosx; (10) arctanx.

m (1)éy:(l'+AI)2—Iz

Ax Ax :21'_*_&19
FE Y —ler)A.r m(Zr—FAr) = 2x.
3_ .3
(@) y = lim B2 = [jm (ZTAL) —
Ar—0 Ar—=0 Ax
== lin})[&rz + 3xAxr+ (Ax)? ] = 32°.
AI*
1 1
r_ Ay _ . r+Ar «x
(3 y = lim 7= = lim Ax
=11m—L:—i
Ar—0 (.l"+ AI)I Iz.
(4) y = lim &Y = [jm ¥Z —vx
ar—~0 Ax Ar—0
1
= lim (x> 0).
oz T Ar AT zJE
3 3
' é.Y—: ; I"‘i‘A.T_\/;
@Y =maTdT
= lim 31 s
ar=0 (x4 Ax)t 4+ V(x+ Ax)x+ Vx
1

———3 y (x % 0).
vz
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) 5 = lim Y _ im tan(x + Ar) — tanr

Ar—=0 A0 Ax
tanx + tanAx
— tanx
— fim 1 — tanxtanAx
Ar—=0 Ax

— lim tanAzr (1 + tan’x)
a0 Axr (1 — tanxrtanAx)

= 1+ tan’x = sec’r.

(7 y = lim Ay _ ypy, otz + Ar) — cotx

Ar—=0 Ar—=0 Ax
— lim tanx — tan(x + Ax) | 1
Ar—+0 Axr tanrtan(x + Ax)
— 2 ]. — 1 — 2
=—sec’T * — =— ——— =— CSC°T.
tan“x sin“x

(8) =Mk ARXE

Ay _ arcsin(x + Ax) — arcsinx
Ax Ax

_ arcsin (z+ Ar) V1—22 — V/1—(z+Ax)? + 7]
A .

A t=(r+A0) V1— 22— V1—(x+Ar)%x,
M4 Az — 0 B,z — 0. AT

T é.y
Y _l\.}-Tn Axr

— lim arcsint | (x+ Ar) J1—22—x/1—(x+Ar)?
A0 I Ar

— lim (r+An)*(1—1%) —2[1— (x4 Ar)?]
a0 Al (z+ Ar) V1—22 + 2 /11— (x+ A0)? ]

= T 2x + Ax
a0 (r4+Ax) V1—22 +x V1 — (= + Ax)?
_ 1
vV1—2z2t
K lim &SRy 2
>0 t w0 SINU

9 H=fMEEA, A
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Ay _ arccos(x + Ax) — arccosx

Ax Ax
_ arcsin[x V1 — (2 +A0)" — (x+ Ar) V1—2*]

Ax

A t=x/1—(x+Ax)  —(x+Ax) V1—22,
Y4 Axr — 0 Bf,t > 0. T&
= limé-y

Ar—0

— i At 2 V1= G FAD (2t Ar) V12
A0 ] Ax

— lim —2x— Ax
2072 1= (x+ A7+ (x+Ax) V1—27
. 1

- IZ

(10) Ay — arctan(x + Ax) — arctanx
Ax Ax

Ax
14+ x(x+ Ax)
Ax

Ax
l+x(x+Ax) | 1
Ax 1+ x2(x+Ax)’
1+ x(x+ Ax)

Y

arctan

arctan

=] ’:1- Ay
T y s R

Ax
1+ x(z+Ax) | 1
A0 Ax 1+ x(x+ Ax)
14 z(x+ Az)

arctan

_ 1
1+’

p:.;pﬂﬁglir?m = fim % = 1,

t w0 tanu
[829) # f(x) = (z— D) (x—2) (x—3)%,
k£, 2, £ 3.
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B (O=G—2@=3)4+2(x—DE@—2(x—3)°+3(x
— D (xr—2)*(xr—3)?
= 2(x—2)(x—3)*(3x* — 11z +9).
TR ) =(D*(—2) =—38,
f(2)=f3)=0o.

[830) #:/f(x) = x’sin(x—2),3K £/ (2).

fiR f'(.l‘) = 2zsin(x — 2) + x*cos(x—2),
F£ £(2) = 2%cos0 = 4.

[831) f(a) = x+ (& — 1)arcsin, /;% kD).

ﬁﬂ ?E—
— —1
(x) = 1+ arcsin X —-%———l————~.
4 NS TG/
\ 34 o . s _]_: s
B LA f (D 1 (ll'(bln\/,z_ 14 g
B Y =10
Ay _ fA+4+Ar) — f(D
Ax Ax
] I 1+ Ax
:AJ + Ararcsin 5T Ar
Ax
_ - 1+ Ax
1 + arcsin 4 AL’

9

T2 ./J(1)=iim%1r=lm(l+arcsin I_T_

)

1

.1 bid
= 14 arcsin —= = 14 .
JZ 4

[832] # ¥ f(2) fEf a ‘Iﬁfzﬁ.ﬁthm;ﬂ_“

J-*a a
M war—a=Ar, Y xr—>alf,Ar—0,FR
, (x) — f(a) _ fla+Ax) — f(a) _
lim = lim Ar

v
= f (a).
r->a X —a Ar—=0

[833) iEPA . dnReR¥L () RIS, H o b SR % )
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r 7

3 | T | l . S g
‘llfllllt/(’ ”)*/(.:)Jy [ Cr). D
27 X TR AL o) REER (D RE 5 W e R O e B
5 7k R 5 R BN ) () o5 7 B0 730).

3 lirn| /(z%lf) ~ () |
. n |

/(/ T ! ) [ )

TS i
.l,l]n i
N
— lim fleT %i) — () — //(l)
Nt o> a8

2 o) A 1T S (i o T kR s R
ooy [T AT
o 0 yJCHE
TEAT — A HVEOTUR AN TS YRR X S A AT e (B o A B
B+ L A B
ety ) ao =1-1=0  GomtmED,

NID] ,!,i@’7[X(f+%)_X(~l‘)J: 0.

) ASER, R T mEH) SR £ (834 ~ 843).
[834 y=2+x—2",

[i1] y%O);;/(%);y’(l);y’(— 10) ZEF £/
M y(x)=1—2x,
' oy — 1.+ (LY—

L YO =1.y(5)=0,
Y (1) =—1,y(—10) = 21.
S
[835] y= 3 -+ 7 2.

I'ﬁlﬁxﬁﬁf{ﬁﬂff:
(1) y'(x) = 0;(2) y'(x) =—2;(3) y'(x) =107
M oy (o) =2"+x—2.
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(O H Y () =0.18
?*+x—2=0.
B r=—28r=1
(2) 1 y'(2) =—2.78
2+ x=0.
fEZ8xr=—12x=0.
(3) By (@) = 10,44
r4+xr—12=0.
B2/ =—48x=3.
[836) y=a" +5a’x" —2°.
8 y =10d°xr—5x'.

_ar+b

[837] Y= T
r o a
i y—a+/)'

(838 v= (x—a)(ax—0b).
B Yy =G—b+@x—a) =2xr—(a+b).
[839)] v= (x+D(x+2)(x+3)".
B Y=+ @+ 2+ D+ 2@+ 3)¢
+3(x+D(x+2) (x4 3)°
= (r+2) (x4 3)*[(x+2)(x+3)
+2(x+D(x+3)+3x+ D+ 2)]
=2x+2)(x+3)* B2 +11x+9).
[840) y = (xsina+ cosa) (xcosa — sina).
i@y = sina(xcosa — sina) + (rsina + cosa)cosa
= xsinZa + cosZa.
[841] y= 1 +nx™) A+ mx").
By ="' A+me") + A+ n2™n s me™!
=m[2"' + 27+ m+m)xmt].
[842] y= 0 —o)1—2*)*—2%)%,
By =—>0-A—2) (-0 —2HA—2)
— 92 (1—2) (1 —2)*(1 — x*)*?
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=—(1—2)0 =21 —2)*(1 + 6x+ 152% + 142°)
=— (11— +x2)(1+427) «
(1+4x+ 72+ x4+ 2%)%.
[842.1] y = (5+22)"(3—4x)™.
By =20(54+20)"(3—4)* —80(5+ 2x)°(3 —4x)"
= 20(54+2x)°(3—4x)" « [3—4xr—4(5+4+2x)]
=—20(12x+17)(542x2)° (3 —4x)".

[843] y=—++2+3
Ve by 4 e
, 149
gy :—(?—f—?“F;) (x # 0).
[844) FEAAN:

a b
(a.z‘+b>l _ |le d
cx +d (cx +d)¥
. ar +6b
uE (c_z'+d>
_ (ax +0) ' (cx +d) — (ax +b)(cx +d)’
(cx +d)?
_alexr +d) —(ar +b) = ¢
(cx +d)?
a b‘
_ad—bc _ |c d
T td? (aFap (=tdF0O.
K5 mE ) SR # (845 ~ 971).
2=
(8451 y=1"">.
r 200 — 22) — 2x(—2x)
w N (1— 2?%)?
2014 2?)
- (1—1‘2)2 (I?ﬁi—l).
_14x—2*
(3461 YT I — x4
’ 2(1 — 2x)

i y’:[ﬁﬁ—l:l T A—z+ D
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(B9 y=T—miaTo

Wy = Um0l 3 P = XL

1 — o+l

= —— — vt 1)
A—2)' (1 +.0)" ( =
[s48) v - S s s
[ 23 @ 4 202 )
B v= i
;1_*—()1*‘31 ‘;2,/ ;/;‘7 3.1 (r==1)
(] —r)
(] =)
(8491 o~ (1 4.0
r_ =Pl =) A4+ 2)—gll —a )]+
m R (14 )%
__47(]—.'1")""7 (p [Lﬂ J_;(I_)’_:]( a——
(1~ )7
oal =)
(8501 v = T
;o pr =) =@’ (I =) 0 +2) — 2P (1 —x)?
L 0+
= ——(ﬁl—l[pﬁ(q—}-l)z—(p-{—q*lh ]
(1+2a

G sE— 1

(8511 y=x+Vx+x.

SRR
* y‘“”z Al

2
[853 = JZ—~X,
A 3 ‘ Jr



